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57 Verifying Trigonometric Identities
There is no well-defined set of rules to follow in ve
the process by practicing.

In general here are some guidelines for verifying trigonometric identities:

rifying trigonometric identities, and it is best to learn

Guidelines for Verifying Trigonometric |dentities

1. Work with one side of the equation aesrEerse. It is often better to work with the more
complicated side first.

2. Look for opportunities to factor an expression, add fractions, square a binomial, or create a
monomial denominator.

entities. Note which functions are in the final

3. Look for opportunities to use the fundamental id
and cosecants

expression you want. Sines and cosines pair up well, as do secants a_nd tangents,

and cotangents.

4. If the preceding guidelines do not help, then try converting all terms to sines and cosines.

5. Always try something. Even making an attempt that leads to a dead end can provide insight.

When verifying an identity, you cannot assunie that the two side s of the equation are

equal because you are trying to verify that they are equal.

In addition, you cannot use operations such as adding the same quantity to each side of

the equation or cross multiplication. '
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